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PART A: Grammar
Directions: Questions 1-15 are incomplete sentences. Beneath each sentence you will see four words or

phrases marked (1), (2), (3), and (4). Choose the one word or phrase that best complete the sentence.

10-

11-

12-

13-

14-

Then mark your answer sheet.

Before taking the job, I ............ late in the morning, but now I ............ at 7 o’clock every day.

1) got up / get up 2) got up / use to get up

3) used to get up / get up 4) used to get up / use to get up

He’s not been seen in this neighborhood for a long time. He was the person ............ Howie’s sister,

Annie, fifteen years ago.

1) suspecting to murder 2) suspected murdered

3) suspected to murder 4) suspected of murdering

The ............ of the blackouts is said to be an increase in demand ............ electricity due to record high

temperatures.

1) reason / of 2) reason / for 3) cause / of 4) cause / for

Never in his life ............ feel unsure of himself and his purpose.

1) did Thomas Edison  2) do Thomas Edison 3) was Thomas Edison  4) does Thomas Edison

............ they had no wings the thieves could not fly away, and if they jumped down from such a height
they would surely be killed.

1) Like 2) As long as 3) By the time 4) As

A man ............ was accused of housebreaking appeared in court and said he had put his arm through

the window of a house and stolen some money.

1) whom 2) whose 3) with whom 4) who

Anne’s going to resign, and I think she’s right. Ever since the new boss came, she ............ with nothing
but disrespect.

1) °’d been treated 2) was treated 3) ’s been treated 4) ’s treated

I finally managed to park in the town. It took me ages to find a space. And all I wanted was to buy
............ to wrap this present.

1) some wrapping paper 2) a wrapping paper 3) the wrapping paper 4) wrapping papers

A: What time are we supposed to be at the coffee morning?

B: The invitation says ten o’clock.

A: Well, it’s ten now. We ............ .

1) can hurry 2) had better hurry 3) could hurry 4) might have hurried

One way the government can prevent HIV transmission among injecting drug users is to make sterile

needles ............ to them.

1) as cheaply as available 2) cheaper available

3) as much cheaply available 4) more cheaply available

He made a mistake thirty years ago, and he’s still taking the blame for it. I guess some mistakes will
never be forgotten, ............ ?

1) won’t they 2) didn’t he 3)dol 4) will they

Mike and Harriet are so unlucky. The week ............ was the wettest of the year and they had to come
back soon.

1) when they went camping 2) they which camped

3) in which they camp 4) whose they were camping

Sarah had a big fight with her boss two days ago. She said she was OK, but I couldn’t help ............ how
upset she looked when she came home.

1) to notice 2) to having noticed 3) noticing 4) having had noticed

Surely, she must feel bitter about that fact, and yet ............ her voice ............ her expression gave any

indication that she felt sad.

1) none of / or 2) both / and 3) either / or 4) neither / nor

Don’t you think such calculations are ............ ? She’s just eight years old, after all.

1) complicated enough for her to do 2) too complicated for her to do them

3) too complicated for her to do 4) complicated enough for her to do them
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PART B: Vocabulary
Directions: Questions 16-35 are incomplete sentences. Beneath each sentence you will see four words

or phrases marked (1), (2), (3), and (4). Choose the one word or phrase that best complete the sentence.
Then mark the correct choice on your answer sheet.

16-

17-

18-

21-

22-

23-

24-

28-

29-

30-

31-

32-

33-

34-

35-

Until the costs associated with solar energy come down, it will not be feasible to use it as a major

............ of electricity.

1) variety 2) source 3) bulk 4) capsule

These magnetic storms ............ radio communications and even cause electricity blackouts.

1) plan 2) deceive 3) tolerate 4) disrupt

Everyone assumed Iran would be occupied soon after the attack, but there were many ............ people in
Iran who defended their country.

1) wealthy 2) humble 3) courageous 4) complicated

Luke has a very ............ attitude about everything, which some people find annoying because he doesn’t
seem to take anything seriously.

1) vicious 2) casual 3) mature 4) valid

An afternoon at the library was the best way to ............ my desire for more books.

1) quench 2) give up 3) betray 4) guide

We couldn’t find a ............ mechanic to work on our car at a rate we could afford, so we decided to

learn how to fix it ourselves.

1) tactful 2) qualified 3) massive 4) popular

Studies show that proper nutrition and regular exercise are ............ important in maintaining a healthy

body and mind.

1) brutally 2) gratefully 3) vitally 4) adequately

Studying needs concentration, so teachers should encourage their students to ............ distractions such
as telephone, television and loud music.

1) obtain 2) eliminate 3) conceal 4) display

Tom claimed that he didn’t know his beach house was being used for ............ activities.

1) majestic 2) proper 3) illegal 4) prior

It does not seem a big deal these days, but many efforts were made to ............ the law that allowed
indoor smoking in public facilities.

1) explore 2) permit 3) debate 4) abolish

He is a single parent and no matter what everyone thinks, he’s doing his best to keep an eye on his
............ teenager.

1) mortal 2) unruly 3) reluctant 4) urban

Mothers who are educated tend to send their children to college, which is ............ for breaking the cycle

of poverty from one generation to another.

1) essential 2) typical 3) annual 4) curricular

Nearly 43 percent of convicted criminals serving prison sentences are ............ again within a year of

being released from prison.

1) arrested 2) exempted 3) compelled 4) dejected

The ............ that hit the country in 1960 will pale in comparison to what could happen in the coming

months if something isn’t done to help people now.

1) burden 2) brawl 3) pledge 4) famine

In 1980, China established four special economic zones in order to ............ foreign investors,

technology, and expertise.

1) outlaw 2) quench 3) attract 4) exhibit

Taking safety ............ is one of the most important things you can do to protect yourself and your

family from accidents and injuries.

1) hesitations 2) anticipations 3) vocations 4) precautions

If he replied and argued, it was only because he wished to maintain his independence and not ............ to
his teacher’s opinions entirely.

1) ponder 2) submit 3) use up 4) conjure

The trip was ............ from the standpoint of aviation, but extremely interesting from the standpoint of

what we were able to learn in that brief time.

1) uneventful 2) feeble 3) fertile 4) awesome

Greasy food can weigh you down the next day’s activities, but an eatery that serves light, delectable
food will ............ tired muscles and bones.

1) nourish 2) exhibit 3) opt 4) extract

Developing countries ............ require financial support in order to respond effectively to the current
health crisis.

1) deliberately 2) urgently 3) recklessly 4) fluently
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PART C: Sentence Structure
Directions: Choose the sentence with the best word order for each of the following series. Then mark

the correct choice on your answer sheet.

1) It’s about time she stops being so selfish and realized that not everyone should always agree with her.

2) It’s time for her stop being so selfish and realized that not everyone should have always agreed with her.
3) It’s about time she stopped to be so selfish and realized that not everyone should agree with her always.
4) It’s time she stopped being so selfish and realized that not everyone should always agree with her.

1) A small round table and two chairs were placed in a corner near the doorway to the family room, providing
a view of the fireplace.

2) There was a table and two chairs which placed on the corner near the doorway to the family room, which
had provided a view of the fireplace.

3) A small round table and two chairs had placed in a corner near the doorway for the family room, providing
that a view of the fireplace.

4) There’s been a small round table and two chairs placed on a corner near the doorway to the family room,
which could have provided a view of the fireplace.

1) Having spent decades in a state of war, Egypt is now trying to generate a new economy, but this entails a
difficult transitional period.

2) Spending decades in a state of war, Egypt is now trying to generate new economy, but this entails a
difficult transitionally period.

3) Have been spending decades in a state of war, Egypt now trying to generate a new economy, but it entails
a difficult transitional period.

4) Having spent decades in the state of war, Egypt is now trying to generate a new economy, but this will
entail a difficultly transitional period.

1) It’s a pity the lake wasn’t frozen yesterday. If it would have been frozen, we had gone skating.
2) It’s a pity the lake had not been frozen yesterday. If it was frozen, we could have gone skating.
3) It’s a pity the lake wasn’t frozen yesterday. If it had been frozen, we could have gone skating.
4) It’s a pity the lake wasn’t frozen yesterday. If it had been frozen, we would go skating.

1) The coach has been under pressure since a first-round exit at the last World Cup and subsequent poor
performances.

2) The coach was being under pressure for a first-round exit at the last World Cup and subsequent poor performance.
3) The coach has been under pressures since a first-round exit on last World’s Cup and subsequent poor
performances.

4) Coach has been under pressures since a first-round exit at the last World Cup and subsequently poor performances.

PART D: Language Functions
Directions: Read the following conversations between two people and choose the answer choice (1), (2),

(3), and (4) that best completes the blank in the conversations. Then mark the correct choice on your
answer sheet.

43-

44-

45-

A: T hate Italian food, it really isn’t ...41... .
B: Well, ...42... , but I think a lot of people love pizza and pasta.

1) down in the dumps  2) one of a kind 3) my cup of tea 4) up in the air
1) there’s no accounting for taste 2) easy come, easy go
3) help yourself 4) take it easy

A: Don’t you think she’s changed a little bit ever since she got promoted?
B: I’ll say! She used to be so modest and down to earth, but now she’s so ...43... I can’t even talk to her.

1) over her head 2) dime a dozen 3) full of herself 4) beside the point

A: ...44... , when we started this charity, I couldn’t imagine that one day it would grow to become so
widespread.

B: Neither did I. I think we underestimated how much people are willing to ...45... if you just give
them a good cause.

1) To tell you the truth 2) If worse comes to worst
3) All jokes aside 4) For heaven’s sake
1) come on in 2) pitch in 3) find out 4) chill out
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PART E: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each space.
Then mark the correct choice on your answer sheet.

Plagues of all types have haunted humans since the dawn of civilization. One of the worst plagues to
...46... was during the mid-1300s. This plague was ...47... it became known as the Black Death.

The Black Death ...48... in Europe in 1347 and lasted for ...49... four years. During this time in
history, Europeans were doing much trade with ...50... living in Asia. Unfortunately, trading did not just
bring new ...51... to the Europeans; it also brought new diseases. The ...52... adventurers never realized
they were ...53... rats, who came as stowaways, into the ...54... uninfected areas. These rats ...55... with
them the deadly plague, which quickly spread to the human inhabitants of the area.

46- 1) stick 2) strike 3) heat 4) plug

47- 1) deadly as 2) too deadly 3) so deadly 4) such deadly

48- 1) began to be seen 2) began to see 3) began seeing 4) began been seen
49- 1) closely 2) merely 3) every 4) nearly

50- 1) these 2) those 3) them 4) they

51- 1) plagues 2) goods 3) forms 4) signs

52- 1) unsuspicious 2) respectful 3) unsuspecting 4) alarmed

53- 1) exporting 2) inventing 3) importing 4) inverting

54- 1) perilously 2) insanely 3) previously 4) sensibly

55- 1) carried out 2) captured 3) resolved 4) carried

PART F: Reading Comprehension
Directions: In this part of the test you will read three passages. Each passage is followed by five

questions. Answer the questions by choosing the best choice, (1), (2), (3), or (4). Then mark your
answer sheet.

Passage 1:

For years the US has been sending its used paper and plastic products to East Asia for recycling. Since
1992, China has taken in 45 percent of the world’s plastic, says a study in Science Advances, and in the year
2016 it imported as much as 70 percent of global plastic waste. But then in 2017, China announced that it
would stop accepting most of that waste. In the short term, this means plastics are piling up in countries
that have been selling their recycling for decades.

Before the ban, the US exported nearly 70 percent of its plastic waste to China. Now, the University of
Georgia estimates that if nothing changes, 111 million tons of plastic could pile up by the year 2030.

Already, many US recycling companies have tons of used plastic stored in their warehouses. Without
the equipment to process plastic, many recycling programs either have to stop collecting recycling or stop
recycling what is collected.

The US now has two options: it can either allow plastic use to continue as usual and fill up its
warehouses, or its recycling programs can evolve. If the US gets creative, China’s plastic ban may cause it
to become more environmentally responsible.

56- What is the best title for the passage?
1) A Comparison of Waste Recycling in China and the US
2) China’s Contribution to Plastic Recycling in the 20" Century
3) How China’s Ban on Waste Import Affects Recycling

4) China Will Import More Waste From Europe

57- According to the passage, which of the following is NOT TRUE about recycling around the world?
1) Plastic waste is imported and exported like other goods between countries.
2) The US cannot handle all the waste it produces and has to send some of it away.
3) The US has no other choice but to look for other countries and send its waste to them.
4) Before the new ban in China, this country imported most of the world’s yearly waste.
58- According to the passage, what is NOT mentioned in University of Georgia’s estimation?

1) The origin of waste 2) The type of waste

3) The amount of waste 4) The timeline of estimation
59- The word “evolve” in the last paragraph can be replaced with ............ .

1) progress 2) survive 3)end 4) change
60- What does the pronoun “it” in the last paragraph refer to?

1) China 2) plastic ban 3) the US 4) plastic
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Passage 2:

Elephant ivory trade poses a threat to the very existence of elephants. Ivory hunters were responsible for
wiping out elephants in North Africa perhaps about 1,000 years ago, in much of South Africa in the 19th century
and most of West Africa by the end of the 20th century. At the peak of the ivory trade, before the 20th century,
during the colonization of Africa, around 800 to 1,000 tons of ivory was sent to Europe alone.

Elephant ivory has been exported from Africa and Asia for centuries with records going back to the 14th
century BC. Throughout the colonization of Africa ivory was removed, often using slaves to carry the tusks, to
be used for piano keys, billiard balls and other expressions of exotic wealth.

Should there be a legal trade in elephant ivory? This debate has been going on since at least 1989, when the
Convention on International Trade in Endangered Species (CITES) voted to “ban” the international trade in
ivory after a ferocious wave of poaching in Africa that left hundreds of thousands of elephants butchered.

While some conservationists say that a limited legal ivory trade is needed to satiate demand, especially in
China, in a controlled manner, environmental activists ask whether elephants can survive a legal ivory trade.
They argue that the 1989 ban must be kept in place to protect elephants, especially now that poaching has once
again risen to catastrophic levels.

61- The tone of the passage could be best described as ............ .
1) conservative 2) informative 3) concerned 4) humorous
62- Which of the following questions is answered in the passage?
1) How much does elephant ivory cost today?
2) Were there ever elephants living in Europe?
3) What are some of the uses of ivory?
4) Where was CITES held in 1989?
63- According to the passage, all of the following are TRUE, EXCEPT ............ .
1) humans have been trading elephant ivory for hundreds of years
2) today, elephants can only be seen in northern parts of Africa
3) the 1989 ban was introduced as a result of an increase in elephant hunting
4) environmentalists do not approve of the idea of legal ivory trade

64- The underlined pronoun “they” in the last paragraph refers to ............ .
1) conservationists 2) elephants 3) levels 4) activists
65- From the last paragraph, it can be inferred that ............ c

1) the 1989 ban has not been enough to keep ivory trade under control

2) conservationists believe that hunting animals is good for nature

3) African countries alone are to blame for the extinction of native elephants
4) slavery came to an end because there were no elephants left in Africa
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Passage 3:

Jagck lay, quiet and unmoving, for thirty minutes while a stranger repeatedly stabbed him with sharp
needles, causing blood to pour steadily out of his leg. Jack was getting a tattoo. His friend Tony had
recently gotten a tattoo, and Jack was so impressed by Tony’s bravery and his tattoo that he decided to get
one too. Getting a tattoo because your friends and peers have them is just one of the reasons why a lot of
young people in North America get tattoos. Peer pressure, media influence, and personal expression are
some of the common reasons for wearing tattoos today.

The desire to be part of a group, to be accepted by one’s friends or peers, can have a great influence on
what a person does. Sometimes, wearing a tattoo can be a sign that you belong to a certain group. Gangs
often use special clothes and tattoos to identify their particular group. For example, in one gang all the
members may wear green army jackets and have large “Xs” tattooed on their arms. It is not only gangs
that have this type of special “uniform”. Young people often belong to a certain group of friends. Some of
these groups wear only brand-name clothes. Some wear only black clothes. Others wear tattoos. When a
person’s friends are all doing something, such as getting a tattoo, that person is more likely to do the same
thing, and get a tattoo too.

The media is another big influence behind the popularity of tattoos in North America. A wide variety of
media images show tattoos. Tattoos can be seen on people appearing in commercials selling expensive cars.
Famous sports heroes with tattoos are shown in magazines. Fashion models are often seen in magazines and
on TV wearing designer clothes that show their bodies tattooed with detailed and colorful patterns. These
media images link tattoos to ideas of wealth, success, and status. As a result, many people decide to get a
tattoo for its fashion and status value.

It is not always the influence of other people or the media that results in a person getting a tattoo. Many
people decide to wear tattoos in order to express their artistic nature, their beliefs, or their feelings - in other
words, to show their individuality. A musician in a rock band may get a tattoo of a guitar on the arm. Some
environmentalists may tattoo pictures of endangered animals on their shoulders. Lovers may tattoo each
other’s names over their hearts. A tattoo can be a public sign to show what is important in a person’s life.

As you can see, there are many reasons why young North Americans get tattoos. A tattoo can be part of
a group’s uniform. It can be a sign of fashion. It can be an expression of individuality. The decision to get a
tattoo is most often a result of the influence of friends or media or the desire to express oneself. For Jack, it
was a mixture of all three.

66-  According to the passage, all the following are the most common reasons why a person gets a tattoo
EXCEPT ............ .

1) pressure from their peers 2) it is healthy

3) influence from the media 4) a way of personal expression
67- The underlined pronoun “his” in line 2 refers to ............ .

1) stranger 2) friend 3) needle 4) Jack
68-  According to the passage, some people get tattoos because ............ .

1) they think it is fashionable 2) they like pain

3) they think it will wash off in the bath 4) they are religious
69- The reason Jack wanted to get a tattoo was ............ .

1) the influence of friends 2) the influence of the media

3) a desire to express himself 4) all of the above
70-  Jack was stabbed for thirty minutes with needles because ............ .

1) he was getting acupuncture 2) he was getting his ears pierced

3) he was getting a tattoo 4) he was getting a nose ring
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